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Study guide and practice exam

To prepare you for the in-class exam on Thursday, October 11, you should review the readings that have been assigned, the concepts that have been posted on the website, and the questions that have been written on the blackboard since class began.  

POSSIBLE SHORT ANSWER QUESTIONS.  The midterm will contain at least two short answer questions requiring you to analyze regression and crosstabulations, plus one of the following, which can be answered in a brief paragraph.  

· Describe the three empirical conditions required to demonstrate causality.

· Describe the two methods for holding a variable constant.  Which method is preferable?

· Describe the two kinds of error that can occur in empirical research.  Which kind reflects a flaw in the research design?

POSSIBLE ESSAY QUESTIONS.  These can be answered in 1-3 paragraphs.  One of these will appear on the midterm.

· Describe Edin & Lein’s methodology in Making Ends Meet for studying poor mother’s survival strategies, referring specifically to (a) what kinds of research methods they used to answer their basic research questions, (b) why they chose to conduct in-person interviews, (c) how they sampled single mothers.  

[NOTE: This question does not preclude the possibility that Making Ends Meet may also appear on multiple questions.]

· What are the methodological assumptions of survey research?  Your answer should refer specifically to (a) whether it uses deductive or inductive methods, (b) how it operationalizes concepts and variables into indicators, (c) what kinds of topics it best studies, and (d) how reliable are people’s responses as data.

PRACTICE MULTIPLE CHOICE QUESTIONS. What you see here does not correspond to the Thursday’s exam’s length (which will be shorter), its format (which will rely much less on multiple choice questions), nor all the topics and analyses I expect you to know (again, review the readings, concepts and questions).  Nevertheless, it should give you a good sense of what I expect you to know.  Download the answers at http://faculty.vassar.edu/lenevare/2001a/soci254/requirements.html#practicekey.doc.
1. Using inductive methods, researchers:

A. Develop a hypothesis that can test a theory.

B. Decide how to measure changes in variables based upon the kinds of variables they want to operationalize.

C. Analyze their observations to confirm, reject, or develop a theory.

D. Determine where to find observations to get measurements for their variables. 

2. Vassar Student Health administers survey to measure underage drinking among Vassar students.  To their surprise, they find that more underage drinking occurs in Main Building than any other dormitory.  In this study, the unit of analysis is:

A. the drink

B. the student

C. the dormitory

D. Vassar College

Answer questions 3-8 based on the following scenario.

A sociologist wants to test the theory that using drugs increases tolerance for deviance.  The literature on this subject suggests two major explanations.  The first is a neurochemical theory: narcotic substances neurochemically “open the minds” of users to alternate perspectives and beliefs about their world.  The second is a deviance labelling theory: since illegal drugs are defined as deviant by society, using them causes a person to identify with, associate with, and condone deviance in others.  On the basis of these theories, the sociologist hypothesizes that the frequency of a person’s drug use is positively correlated with the number of deviant friends they have.

The sociologist writes an anonymous survey sent out to 5000 Americans in which respondents answer the question, “How many times per month do you use marijuana, cocaine, LSD, ecstasy, and/or heroin?”  They are then asked how many friends they have had in the last year who (a) “are weird,” (b) have prior arrests, and/or (c) use drugs.  The sociologist calculates the results from this survey and finds that the predicted hypothesis holds “true” (i.e., the study does not reject it).

3. Which of the following represents the sociologist’s concept?

A. Frequency of drug usage

B. Survey question: “How many times per month do you use marijuana, cocaine, LSD, ecstasy, and/or heroin?”

C. Drug usage

D. Drugs

4. Which of the following represents the sociologist’s variable?

· Frequency of drug usage

· Survey question: “How many times per month do you use marijuana, cocaine, LSD, ecstasy, and/or heroin?”

· Drug usage

· Drugs

5. Based on the previous question, what kind of variable is that?

A. Nominal

B. Ordinal

C. Interval

D. Ratio

6. Which of the following represents the sociologist’s indicator?

A. Frequency of drug usage

B. Survey question: “How many times per month do you use marijuana, cocaine, LSD, ecstasy, and/or heroin?”

C. Drug usage

D. Drugs

7. A pharmacologist claims that the sociologist did not properly operationalize drugs in regards to the neurochemical theory, since the survey only asked about illegal drugs and not other narcotic but legal substances like alcohol and caffeine.  What kind of problem does this pose for the sociologist’s study?

A. A problem of reliability

B. A problem of validity

C. A problem of falsifiability

D. A problem of representativeness

8. A survey researcher points out that people regularly underestimate or deny any attitudes or behavior of theirs that can be construed as deviant.  On this basis, the survey researcher predicts that some respondents will not give truthful answers to the survey questions. What kind of problem does this pose for the sociologist’s study?

A. A problem of reliability

B. A problem of validity

C. A problem of falsifiability
D. A problem of representativeness

9. An example of a nominal variable is

A. class: upper, upper-middle, middle, lower-middle, lower.

B. years of schooling: zero to 20+.

C. Belief in traditional male-breadwinner families:  "Having a job takes away from a mother's interaction with her family -- yes, no, don't know." 

D. social capital: membership in zero to 15+ organizations.

10. A correlation is said to exist when

A. the independent variable causes the dependent variable.

B. change in one variable is associated with change in another variable.

C. the relationship between variables cannot be generalized beyond the empirical data.

D. the independent variable precedes the dependent variable in time.

11. A sociologist formulates the following hypothesis:  "In government workplaces, gender-skewed offices (that is, offices with more male than female employees) cause hiring discrimination against women."  In this hypothesis, the independent variable is:

A. government workplaces.

B. gender-skewed offices.

C. causality.

D. hiring discrimination.

12. An inductive stage in the research cycle is:

A. defining concepts in order to observe them with empirical data.

B. selecting indicators for our concepts.

C. selecting a sample of research subjects.

D. building theory by generalizing our findings.

13. A sociologist decides to study the concept of religiousness in a small southern town by measuring the number of times a sample of research subjects attend the one church in town.  After publishing his findings in an article, the sociologist receives criticisms that he in fact observed social communion -- that is, the townspeople coming together to celebrate their solidarity -- and not religiousness per se.  These criticisms suggest that the concept of religiousness, as it has been defined, has a problem with

A. its indicators.

B. sensitivity.

C. validity.

D. reliability.

14. A sociologist studies teen suicide in upper middle class households.  She hypothesizes that the number of working parents is positively related to probability of teen suicide.  She suspects that amount of parental supervision may be an intervening variable.  To test for an intervening relationship, she should control which variable?

A. class

B. number of working parents

C. amount of parental supervision

D. probability of teen suicide

15. Paradigms make objectivity in research difficult to ensure because they lead researchers to: 

A. Tamper with the data gathered so their previously held theories are consistently confirmed.

B. Insist that facts can be gathered and analyzed without any theoretical interpretations.

C. Observe certain kinds of evidence and ignore other kinds of data.

D. Be explicit about the values informing their research.

Answer questions 16-17 based on the following article.

April 3, 1997

Survey of Scientists Finds Stability of Faith in God

Scientists have been accused of playing God when they clone sheep, and of naysaying God when they insist that evolution be taught in school, but as a new study indicates, many scientists believe in God by the most mainstream, uppercase definition of the concept.  Repeating verbatim a famous survey first conducted in 1916, Edward Larson of the University of Georgia has found that the depth of religious faith among scientists has not budged regardless of whatever scientific and technical advances this century has wrought.

Then as now, about 40 percent of the responding biologists, physicists and mathematicians said they believed in a God who, by the survey's strict definition, actively communicates with humankind and to whom one may pray "in expectation of receiving an answer."  Roughly 15 percent in both surveys claimed to be agnostic or to have "no definite belief" regarding the question, while about 42 percent in 1916 and about 45 percent today said they did not believe in a God as specified in the questionnaire, although whether they believed in some other definition of a deity or an all-mighty was not addressed.

16. The article says there are 3 possible responses which the scientists could answer for the question, "Do you believe in a God who actively communicates with humankind and to whom one may pray in expectation of receiving an answer."  These responses correspond to:

A. Nominal variables

B. Ordinal variables

C. Interval variables

D. Ratio variables

17. Larson's research suggests that among the population of scientists, the relationship between scientific/technical advances and religiousness is:

A. Positive

B. Negative

C. Independent

D. Spurious

18. Using deductive methods, researchers:

A. Generalize their findings to the appropriate level of theory.

B. Develop a hypothesis about a particular aspect of social behavior and then turn to empirical data to test the hypothesis.

C. Build knowledge from empirical evidence.

D. Let empirical data suggest the concepts and hypotheses that best describes the phenomena being researched.

19. Choose the most reliable definition for the concept of poverty.

A. The belief that one possesses insufficient resources to secure a decent livelihood for one's self and one's dependents.

B. Having a household income that falls below the poverty line ($15,000) for household incomes established by the US government.

C. Having insufficient household income to procure food, clothing, and shelter for one's self and one's dependents.

D. Accumulating money derived from labor, investments, and other sources of profits.

20. In a study on the academic performance of students in religious high schools, the dependent variable will be indicated by students' scores on the Scholastic Aptitude Test (SAT).  The measurements from this indicator correspond to:

A. Interval variables

B. Nominal variables

C. Ordinal variables

D. Ratio variables

21. The difference between a hypothesis and a theory is:

A. The truth of a theory is "law-like" or unconditionally true for all empirical contexts.

B. Theory is an example of a deductive method.

C. A hypothesis is not free of human interpretation, and its objectivity is thus endangered.

D. The truth of a hypothesis has not yet been empirically tested.

22. The difference between ordinal and interval scales of measurement is that with ordinal scales, one can:

A. Categorize variables but not rank them.

B. Measure differences in degree, not kind.

C. Rank variables but not specify the distance between ranks.

D. Specify the distance between ranks of variables but not determine the absolute zero point on which those ranks can be based. 

23. Accompanying a piece about the controversy surrounding the second season of the sitcom Ellen, in which the protagonist has come out as a lesbian, the ABC News web-site conducts a survey asking visitors of the site to answer the question, "Would you allow your child to watch a lesbian kiss on television?"  As of October 14, 1997, with votes totaling 13,942, 67% of those surveyed have answered yes, and 33% have answered no.  What kind of sample does this study use?


A. Availability sample

B. Snowball sample

C. Purposive sample

D. Stratified sample 


Answer questions 24-26 based on the Table B-11 (pg. 262)in Edin & Lein’s Making Ends Meet.  

24. For which city does the effect of living there most reduce monthly cash contributions from boyfriends?

A. Chicago

B. Boston

C. Charleston

D. San Antonio

25. What happens to the effect of being African-American on monthly cash contributions from boyfriends, once “ever married” and “family size” are added to the regression equation (i.e., as you move from Stage 1 to Stage 2)?

A. Its effect is increased and becomes statistically insignificant.

B. Its effect is reduced and remains statistically significant.

C. Its effect is reduced and becomes statistically insignificant. 

D. Its effect is increased and remains statistically significant. 

26. What is the best interpretation of the effect described in the previous question?


A. Having been married before is an intervening variable between the relationship of being African-American and monthly cash contributions from boyfriends, and its effect appears to benefit African-Americans who evidently are married less than whites.

B. Having been married before is an intervening variable between the relationship of being African-American and monthly cash contributions from boyfriends, and its effect appears to benefit whites who evidently are married less than African-Americans.

C. The relationship between being African-American and monthly cash contributions from boyfriends is spurious; it explains both the effect of being African-American and monthly cash contributions from boyfriends.

D. The effect of being African-American remains the same, which suggests a multivariate model in which “ever married” is an additional independent variable.

Answer question 27 based on the crosstabulation below.  

1997-99 Poverty by Race


Below poverty threshold
Above poverty threshold

White
46.1%
(15,722,000)
74.7%
(176,927,000)

Black
26.0%
(8,856,000)
11.0%
(26,047,000)

Hispanic
23.3% 
(7,939,000)
10.0%
(23,668,000)

Asian
3.9% 
(1,330,000)
4.0%
(9,427,000)

Native American
1.9% 
(659,000)
0.8%
(1889,000)

100% =
34,103
236,908

27. Which effect does this data reveal?


A. Whites are at least 20.1% less likely to live below the poverty threshold than nonwhites.

B. Whites are at least 20.1% more likely to live below the poverty threshold than nonwhites.

C. Whites are at least 28.6% more likely to live below the poverty threshold than nonwhites.

D. Whites are at least 63.7% more likely to live below the poverty threshold than nonwhites.
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